
Matek A1 / 11. gyakorlat: Integrálszámı́tás

Számı́tsuk ki az integrálokat!

1. a)

∫
x4 − 3x2

1 + x
dx b)

∫
2

(x− 1)(x + 3)
dx c)

∫
2x5 + x4 + 6x3 + 4x2 + x + 2

x4 + x2
dx

d)

∫
x

x4 + 3x2 + 2
dx e)

∫
x4

x + 2
dx

2. a)

∫
x

4

√
x + 2

3
dx b)

∫
1√

x + 4
√
x
dx c)

∫
1

1 + 3
√
x + 1

dx

d)

∫
e
√
x

√
x
dx

3. a)

∫ √
4x2 − 8x + 40dx b)

∫ √
16− x2dx c)

∫
x2

√
x2 − 1

dx

4. a)

∫
e2x

ex + e−x
dx b)

∫
1

cosh(x) + 1
dx

5. a)

∫
1

2 sin(x) + cos(x) + 1
dx b)

∫
2

5 cos(x) + 1
dx

6. a)

∫
sin(x) cos5(x)dx b)

∫
cos2(x)dx c)

∫
cos4(x)dx

d)

∫
cos7(x)dx e)

∫
sin2(x) cos3(x)dx f)

∫
sin2(x) cos4(x)dx

g)

∫
sin3(x) cos5(x)dx

1
























